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( Discipline Specific Elective )
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Paper : DSE-501 (Group—I)

( Accounting and Finance )

( Management Accounting )

Full Marks : 80
Pass Marks : 32

Time : 3 hours

The figures in the margin indicate full marks
for the questions
1. (a) Write True or False : 1x4=4
() Management accounting is con-
cerned with accounting information
that is useful to the management.

(i) Cash flow statement is useful for
short-term financial analysis.
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(2)

Oomﬁ = T
Variable Cost. S Coat

(i) Budgetary
control i
controlling cost. Ol Is a system of

(b) Fill in the blanks -
(i)

MXA”A

. decisions limit the usefulness
management accounting

(i) Income tax refund is an

cash. s
(i}) Fixed cost per unit h
\
volume of production increases i
(iv) Flexible budget is a bud
get.

2. Write short notes o

following : N any four of the

. 4x4=16
a e
(@) Limitations of management accountin

g

(b) Funds from operation
(c) vnomﬁ-co_cBa..nmmo

(d) Differential cost

(e) Zero-based budgeting
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(3)

3. (a) “Management accounting is nothing
more than the use of financial
information for management purposes.”
Explain this statement and clearly
distinguish between Financial Ac-
counting and Management Accounting.

6+8=14
Or

(b) Discuss, in detail, the functions of

management accounting. 14
4. (a) From the following Balance Sheets of
X Ltd. Co. for the years 2019-20 and
2020-21, make out—
(i) schedule of changes in the working
capital;
(i) statement of  sources and
7+7=14

application of fund :
31.03.2020 31.03.2021
v v
3,00,000 4,00,000
1,50,000 1,00,000

Capital and Liabilities

Equity Share Capital
8% Redeemable Preference Share

Capital Reserve — 20,000
General Reserve 40,000 50,000
Profit & Loss A/c 30,000 48,000
Proposed Dividends 42,000 50,000
Sundry Creditors 25,000 47,000
( Turn Over )
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(4)

Capital and Liabiliti
ities 31.03.2020 31.03.2021

Bills Payable mo1 ]

Wi ,000 16,000
Provision for Taxation MM.MMM -
} 50,000

6,77,000 8,17,000

Assets
31.03.2020 31.03.2021
Goodwill ! i
fos 1,00,000 80,000
- 80,000 2,00,000
- 2,00,000 1,70,000
R0, rn 4y 20,000 30,000
i o 1,40,000 1,70,000
Bills Receivable Mq.ooo .
e | 0,000 30,000
Cash at Bank “M.ooo R
i ,000 8,000
: ’

minary Expenses 15,000 10,000
S77,000  &I7,000

Additional Information -

() A machine has been sold for
¥ 10,000. The written-down value of
n.uo.amormbo was ¥ 12,000. Depr
ciation of ¥10,000 is char on_u o
plant in 2020-21 e
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(5)

(i) A piece of land has been sold out in
2020-21 and profit on sale has
been credited to capital reserve

(iii) The investment in trade investment
¢ 3,000 is received by way of
dividends including ¥1,000 from
pre-acquisition which have been

credited to Investment A/c

(iv) An interim dividend of 20,000 has
been paid in 2020-21
Or
(b) What is cash flow statement? How is it

prepared? Distinguish between a Cash

Flow Statement and a Cashbook.
3+7+4=14

5. (a) From the following data, calculate—
(i) profit-volume ratio;

(i) fixed cost;
(iiij) sales at break-even point;

(iv) sale required to earn a profit of

20,000 : 3+3+4+4=14
Sales Profit
(4 { ¢
Period—I 1,00,000 15,000
Period—II 1,20,000 23,000
( Turn Over)
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i (7)

Or
(b) Wh The budgeted  production and
Di A2 you mean by marginal costing? production cost for the year ending
IScuss its usefulness and limitations 31st December, 2020 are as follows :
2+7+5=14 T Product—X Product—Y
Production 11000 units 12000 units

¥ 12 per unit ¥ 19 per unit
¥ 5 per unit ¥ 7 per unit

6. @ A m i
anufacturing company many- Direct Material

fac
owmn_““” nMcM.u Products X and y An Direct Wages
Rtb 7Y the S.CSUQ of units Other Manufacturing
¢ sold in the first seven Expenses (apportionable
¥ 33,000 ¥ 48,000

to each type of product)
You are required to prepare—
(i) a product budget showing number

months of 2020 is given below :

Months Product—Xx Product—y

Jasin (Units) (Units)
ary 500 1400 3
February 600 of unit to be manufactured each
1400 .
March month;
! 800 1200

April 1000 1000 (i) a summarized production cost
May 1200 800 budget for six months period from
..Hc_ao 1200 800 January to June 2020. 8+6=14

uly
: 1000 900 or

t is anticipated th

at—

5 (b) Define the terms ‘budget’ and

i ;
g HMR Wil be no wor k-in-progress at ‘budgetary control’. Explain in detail the
S s classification of budgets according to—

i) fini i
(i) S_WJ& units equal to half of the g aas
anticipated sales for the next i lons;
month will be in stock at the end of Pt
S ol ) : end o i) flexibility. 2Va+2Y%+9=14
o) nth (including December & - e
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(8)
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3. (a)

(b)
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ofapE ROPRET IR ST @
ae%%%ﬁmﬁ_:?@%
T 741 R RorrmT we “off 1Tl

Ry od =8 P L 6+8=14
el

5T 20T SRR IZAR e ¥4 1 14

wers BrEd 91 X Ltd. Co.-3 2019-20 W<

2020-21 T Tq8 @z fm ¥ WK
AAR—
() e vt e st P
(i) e e wrE R RS @S 0 :
7+7=14
e A CAPTR 31.03.2020 31.03.2021
B bl

3,00,000 4,00,000

T T

8% SAMRPRYS = 1,50,000  1,00,000
AR A - 20,000
YR HE 40,000 50,000
S oM 251 30,000 48,000
2BIRS =S 42,000 50,000
Ry neTmA 25,000 47,000
wefacnfys Re 20,000 16,000
454 (7l 30,000 36,000
AP T 40,000 50,000

6,77,000 8,17,000
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( 10 ) (11)

. 4+4=14
oA S.cﬂomo 8.9“%2 5. (a) FGIe Swpzd SRS R $a . 3+3+4+
] AT SIS
N 1,00,000 80,000 ) = R
au_aasa 80,000  2,00,000 (i) &2 am 8
2,00,000  1,70,000 Sl R&F AR
Rz 20,000 30,000 Lo il b —
R e 1,40,000  1,70,000 (iv) 20,000 51 T FRM A
TGS oy 77,000  1,09,000 {46 A
oo e 20,000 30,000
. S 15,000 10,000 R Mﬂ
QTS & 10,000 8,000 (!
ARRBF T 15,000 10,000 ST 1,00,000 15,000
6,77,000  8,17.000 s 1,20,000 23,000
wefie oy
w9
asw_z?_o.ooowﬁam@amﬂ_aﬂ s
GPTOR  ww  cam T ¥ (b) @R W I o g B +7+5=14
12,000 311 10,000 B 2020-51 W SRESPRE S 341 | 3
THOR M S 4R 97 o
s Wwd > PR @A X F Y TN K0l
" s ﬁ%xﬁﬁ:ﬂw%aﬂ&% " > M Mnnaﬂ FTI | T PR 2020 H A% O
(i) 3,000 51 Rfacaem SRS FASIN (Cofray i 341 RER AR were fran 274
Nﬁudmooogga@sxﬁuwﬁ T X FI—Y
S X R Rovrs e 341 o2ge R o)+ feam)
(iv) B IGFEAT =S 2020-21 TR 500 1400
TS MH T @R CR g wm mmu_M 600 1400
20,000 B3 o 800 1200
=11 o 1000 1000
(b) xﬁﬁﬂ@w@m@ﬁ@mﬂwuiuﬁmm@ @ Sow Mwm
Qﬁﬂmﬁﬂﬁqaﬁﬁﬂﬂagﬂ k4l Smo 900
ORI TGS < MLFTIR BTEy 347 | TR i
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